O"11 2T 7MWY 11N
(#3) D2'on

nion "1

I"naron wa R TR LKW 1y 17'9R1"] N 'na

(N1 nInT '"n N"T) DY 'oIn

(ym A"T A nik 2"y "o 2 77n) DTR "N 190

["17o8' X7 T 170K anana pni L Tv] op mac- [ ann'"] o nawn
ov n"awn

ow T"axd ,(7":n) n"In 70 n"ann

DY NN 1N

(3077 TIo' "7 'K NIN DY) DT "D 190

ov T"axa ,(:n) n"In 70 n"ann

ow "wn ["n7ON nywa X7w 80 M) o - M2 20 K] 0o 'na
DY Mwn onY? ,(:N) Mmwn Tan

(T"9%1 0" T 'K NIN X N"T "2 NIX DY) DT "D 190

NTIVO IRY

(n:7) n"In "70 0"ann

(mxw nt 2"T) .NP RN

o X"n ,(r2"yn) NI Y'Y

! Think about how Approach #2 of mxy 191 nix¥n (either version of NaIwN N'7'aX or NTIVO) will understand this XVI X7 regarding 'T
nio1d which focuses exclusively on the theme of nin'n within the nixn of niod 1.
2 Focus on the 7" nn quoted in this paragraph



